The Open Group

0GO0-091
TOGAF 9 Part 1

C

Exnn‘;s Boost

For More Information — Visit link below:
https://www.examsboost.com/

Product Version

v Up to Date products, reliable and verified.
v" Questions and Answers in PDF Format.



https://www.examsboost.com/test/og0-091/

Latest Version: 6.0

Complete the sentence by selecting the applicable pair of words. According to TOGAF, a/an is
used to describe the of a stakeholder.

A. activity model, perspective

B. viewpoint, requirements

C. view, concerns

D. Node Connectivity Diagram, interconnections
E. Architecture trade-off analysis, constraints

Answer: C

Complete the sentence. In TOGAF, every architecture view has an associated that describes it, at
least implicitly.

A. architecture building block
B. architecture model

C. architecture vision

D. requirement

E. viewpoint

Answer: E

Which one of the following statements about TOGAF Building Blocks is NOT true?

A. They are a package of functionality intended to meet the business needs across the organization
B. They should have stable, published interfaces that allow other building blocks to interoperate with
them

C. They are equivalent to software component objects or web services

D. They may have multiple implementations but with different, interdependent Building Blocks

E. They may be assembled from other Building Blocks

Answer: C
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Complete the sentence. In TOGAF, legacy systems and processes that are going to be used again in the
future are considered

A. Architecture Building Blocks
B. Components

C. Patterns

D. Re-usable Building Blocks

E. Solution Building Blocks

Answer: D

Which of the following statements best describes the purpose of the Architecture Requirements
Specification?

A. A document that triggers the start of an architecture development cycle

B. A qualitative view of the solution to communicate the intent of the architect
C. A quantitative view of the solution to measure the implementation

D. A record of deviations from the planned architectural approach

Answer: C

Which one of the following best describes the purpose of the Communications Plan?

A. To ensure that architecture information is communicated to the right stakeholders at the right time
B. To evangelize the architecture to the end user community

C. To keep the Architecture Review Board informed of changes to the architecture

D. To ensure that the outcomes of a Compliance Assessment are distributed to the members of the
Architecture Review Board

Answer: A

Complete the sentence. The TOGAF Technical Reference Model
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A.is an example and should be tailored to the needs of an organization

B. must be used "as is" for developing comprehensive architecture models
C. contains several industry specific frameworks

D. is intended to contain the Enterprise Continuum

E. contains only solution building blocks

Answer: A

The statement, "Getting information to the right people at the right time in a secure, reliable manner in
order to support the operations that are core to the extended enterprise" describes the concept

of

A. Boundaryless Information Flow

B. Interoperability

C. Portability

D. Service Oriented Architecture

E. Semantic Web

Answer: A

Which of the following TOGAF components was created to enable architects to design architectures
addressing Boundaryless Information Flow?

A. The Architecture Repository

B. The Enterprise Continuum

C. The Integrated Information Infrastructure Model
D. The TOGAF Technical Reference Model

Answer: C

Which of the following best describes the TOGAF Technical Reference Model?
A. ltis a detailed data model that can be tailored to specific industries

B. It is an example of a Common Systems Architecture
C. Itis a fundamental architecture upon which more specific architectures can be based
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D. It is a model of application components and application services software, including brokering
applications

Answer: C

Question: 11

Which one of the following statements about the structure of the TOGAF 9 document is true?

A. Part |, the Enterprise Continuum, describes a model for structuring a virtual repository

B. Part ll, the Architecture Development Method, describes the definitions of terms used in TOGAF, and
the changes between versions of TOGAF

C. Part lll, Tools and Support, describes a collection of guidelines and techniques used in the other parts
of TOGAF

D. Part VI, TOGAF Reference Models, includes a model for release management of the TOGAF
specification

E. Part VII, the Architecture Capability Framework, describes processes and skills to establish an
enterprise function

Answer: E

Which phase of the ADM ensures that implementation projects conform to the defined architecture?

A. Requirements Management
B. Phase D
C. Phase F
D. Phase G
E. Phase H

Answer: D

Complete the sentence. The Requirements Management Phase

A. addresses and resolves requirements between ADM phases

B. is a central process that prioritizes requirements for all ADM phases

C. is used to dispose of resolved requirements for all ADM phases

D. generates new requirements and passes them to all ADM phases

E. stores requirements and manages their flow into relevant ADM phases
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Answer: E

Question: 14

Which one of the following is an objective of the Preliminary Phase of the ADM?

A. To define the Baseline Architecture for this cycle of the ADM
B. To define the application systems for the Target Architecture
C. To define the framework and methodologies to be used

D. To define the relevant stakeholders and their concerns

E. To define and prioritise work packages

Answer: C

According to TOGAF, when creating views for a particular architecture, What is the recommended first
step?

A. Design a viewpoint to address all stakeholder concerns

B. Develop views for the target architecture first

C. Ensure completeness of the architecture

D. Refer to existing libraries of viewpoints, to identify one for re-use

Answer: D
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